Zeige in PP: {z =y} [z =2+ 1||ly:=y+1] {z=y}

r=z — x+1l=2z+1

{fr4+1=24+1} 2:=2+1 {z=2+1}

r=z+1 — z=2z+1

{r=2z2} z:=24+1 {z=2+1}

y=z — y+l=2z+1

{ly+1=z2z4+1} y=y+1 {y=2+1}

y=2z4+1 — y=2z+1

{y=2} y=y+1 {y=2+1}

{r=2Ny=2z2} [z=c+1||ly=y+1] {z=2+1ANy=2+1}

r=zNy=z — T=zNYy=2=2



r=vYy — T=zZANY=2=2

r=z4+1Ny=2+1 — x=y
{x=zAy=2z} |[z:=x+1|ly=y+1] {z=y;
r=yYy — T=xNYy==x

{r=xANy=2a} z:=0 {x =2 Ny=2z}
r=zNy=z — T=zNYy=2=2

{r=y} z:=0 {s=2Ny=2}

{r=y} z:=a; [z:=2x+1]ly=y+1] {x=1y}

{r=y} [v=a+1|ly=y+1] {z=y}



